
My brother gave me a set of table mats he bought in Mexico. 

They were rectangular and were made of straw circles joined 

together in the form shown in the picture  
 

All the circles on the edges of each mat were white and the inner circles red.  

I noted that there were 20 white circles and 15 red circles. 

There are two ways of making a mat similar to this where the number of red 

circles is equal to the number of white circles- can you find them? 
 

 
 

 

 
 

From the clues, work out the number that fits into 
the boxes. 

     

1. All the digits are different. 
2. The first digit is odd and larger than the 

third digit. 
3. The fourth digit is three times the first. 
4. The final digit is the product of the second 

and third digits. 
 

An eight-digit number 

contains two 1's, two 

2's, two 3's, and two 4's. 

The 1's are separated by 

one digit, the 2's by two 

digits, the 3's by three 

digits, and the 4's by four 

digits. What is the 

number? 

 
 

Write a ten-digit number so that 
the first digit tells how many 
zeros there are in the number, 
the second how many ones, the 

third how many twos, etc. 

 

Fit the square numbers  

0,1,4,9,16,25,36,49,64,

81  

into the grid to make 

each row and column 

sum to the correct 

total. 
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     105 

     95 

50 40 145 25 25  

 
 

  
  
  
  

 

Find   a   five-digit 
number   that   is 
reversed  when 
multiplied  
by 4 
 

 

A woman and her grandson have the same birthday.  
For six consecutive birthdays, she is an exact multiple of his age.  

How old is the grandmother at the sixth of these birthdays? 
 



  
  

12 by 5 circles or 8 by 6 circles. 
 

 
 

 

 
 

3 4 2 9 8 
 

41,312,432 

 

 
 

6,210,001,000 

 

 
 

49 36   0 85 

  64 16 25 105 

1 4 81 9  95 

50 40 145 25 25  

 
 

  
  
  
  
  
  
  
  
  

 

 

21978 
 

66 
 


